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Errata corrige

. Equation number (4.54)

xan(t) = 2F−1 [X(f)u(f)]

. Equation number (5.7)
Y (f) = H(f)X(f)

. Equation number (5.18)

Y (f) =
H(f)

2
(δ(f − f0) + δ(f + f0)) =

H(f0)

2
δ(f − f0) +

H(−f0)
2

δ(f + f0) =

=
M(f0)

2
ejφ(f0)δ(f − f0) +

M(−f0)
2

ejφ(−f0)δ(f + f0)

. Substitute Figure 5.2 with Figure 0.1 here shown.

Figure 0.1 A) Transfer function of the ideal low pass �lter. B) Impulse response of the
ideal �lter (solid line) and of a �lter with delayed impulse response (dotted line). The
ideal �lter is not causal, but introducing a delay and neglecting the queue (dashed line),
a causal �lter is obtained which approximates the ideal �lter.

. Equation number (6.23)

ϕy(τ) = lim
T→∞

1

T

∫ T/2

−T/2
y(φ+ τ)y∗(φ)dφ = lim

T→∞

1

T

∫ +∞

−∞
y(φ+ τ)y∗(φ)pT (φ) dφ =

= lim
T→∞

1

T
y(τ) ∗ y∗(−τ)pT (−τ) = lim

T→∞

1

T
h(τ) ∗ x(τ) ∗ h∗(−τ) ∗ x∗(−τ)pT (τ) =

= h(τ) ∗ h∗(−τ) ∗ lim
T→∞

1

T
x(τ) ∗ x∗(−τ)pT (τ) = h(τ) ∗ h∗(−τ) ∗ ϕx(τ)
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. Equation number (7.17)

Gy(f) =

+∞∑
n=−∞

∣∣∣H ( n
T

)∣∣∣2|µn|2δ (f − n

T

)
= |H(f)|2Gx(f)

. Sentence after equation number (9.36)
...which takes all the values of the imaginary axis of the s plane (Laplace domain,

s = σ+ jωa) as the numerical frequency varies in
[
− 1
Tc
, 1
Tc

]
, so that we can write...

. Equation number (9.44)

BIBO ⇔
+∞∑

n=−∞
|h [n]| <∞

. Equation number (11.15)

σξη = E [(ξ − µξ)(η − µη)]

. Equation (11.25)

σ2 =

∫
(x− µ)2fX(x)dx =

∫ µ−
√
K

−∞
(x− µ)2fX(x)dx+

+

∫ µ+
√
K

µ−
√
K

(x− µ)2fX(x)dx+

+

∫ +∞

µ+
√
K

(x− µ)2fX(x)dx ≥

≥
∫ µ−

√
K

−∞
+

∫ +∞

µ+
√
K

KfX(x)dx = KP (|X − µ| ≥
√
K)

. Equation (11.29)

E[p̂] =
1

N
E[Y ] = p , V ar[p̂] =

1

N2
V ar[Y ] =

p(1− p)
N

. Equation (11.46)

E [x (t)x (t+ τ)] = Rx (t, t+ τ) =

∫
x1x2fζ1ζ2 (x1, x2; t, t+ τ) dx1dx2

. Paragraph describing equations (11.89) and (11.90) The PSD at the output of an
LTI system with impulse response h(t)

y (t) = h (t) ∗ x (t)
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is obtained by transforming the equation (11.87)

Gy(f) = |H(f)|2Gx(f)

where H(f) is the transfer function of the system
. Page 75: discussion of the probability density of η = H(ξ)
Given the probability density function of a random variable ξ, the probability
density of a monotonic and invertible function of such a variable η = H(ξ) can
be obtained investigating the cumulative function of the variable η

Fη(y) =

∫ y

−∞
fη(y)dy =

∫ H−1(y)

−∞
fξ(x)dx =

∫ y

−∞
fξ
(
H−1(y)

) ∣∣∣∣dH−1(y)dy

∣∣∣∣ dy
where we considered that P [η < y] = P [H(ξ) < y] = P

[
ξ < H−1(y)

]
. Thus we

obtain the following expression for the probability density function of η

fη(y) = fξ(H
−1(y))

∣∣∣∣dH−1(y)dy

∣∣∣∣
where the absolute value assures that the probability density is non negative.

. Page 86
Change '... a voltage which increases with temperature' with '... a voltage with
energy which increases with temperature'.

. Equation (12.9)

H =
1

−m
1

(w − jα1) (w − jα2)
=

1

m

1

(jw + α1) (jw + α2)

. Equations (13.14) and (13.15)

ρuttdxdy = (T (x+ dx, y)−T (x, y)) ·~idy+(T (x, y + dy)−T (x, y)) ·~jdx+Fdxdy

ρ
∂2u

∂t2
dxdy =

∂T

∂x
·~idxdy + ∂T

∂y
·~jdxdy + Fdxdy = ∇ ·Tdxdy + Fdxdy

. Figure 13.3: substitute with Figure 0.2 here shown.

. Equation number (14.8)

W̃2 = X2 −
X1

3

. Equation number (14.9)

∥∥∥W̃2

∥∥∥ =

√∫ 3

0

W̃ 2
2 dt =

√
2

(
1− 1

3

)2

+

(
−1− 1

3

)2

. Equation number (14.13)
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Figure 0.2 Stress acting on an in�nitesimal membrane element.

W4 =
X4

‖X4‖
=
X4√
2

. Solution of the additional exercise (1) of chapter 16.
Input: sin(10πt) + cos(20πt).
Output: 1√

22+152
sin(10πt + θ1) +

1√
22+302

cos(20πt + θ2), where θ1 = − arctan 15
2

and θ2 = − arctan 15.
. Solution of the additional exercise (2) of chapter 16.
Input: sin(2πf0t) + cos(4πf0t).
Output: if f0 > B the output is 0; if B/2 < f0 < B the output is sin(2πf0t); if
2f0 < B, the output is the same as the input.
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. Substitute Figure 11.5 with Figure 0.3 here shown.

Figure 0.3 Plot of the low pass �lter superimposed to the sampled signal of Exercise 17.3
showing the values for which the conditions necessary to recover the signal are satis�ed.

. Page 154.
Change 'Then, since

∑
E[v(nT )] = mv and

∑
h(t− nT ) = 1, we get...' into 'Then,

since E[v(nT )] = mv and
∑
h(t− nT ) = 1, we get...'

. Equation number (18.16)

E[y(t)] = E[x(t− θ)] = Eθ[Ex[x(t− θ)|θ]]

. Equation (18.21), last part

=
1

T

t1+
T
2∫

t1−T
2

Rx(α, t2 − t1 + α)dα = Ry(t2 − t1)


